
 7
.2

50
 

 3.500 

 1.250 

 0
.8

75
 

 0
.8

75
 

 1.250 

DO NOT BREAK THRU
6 x #8-32 HELICOIL Insert

4 PLACES
R0.250

 4
.7

50
 

 1.250  1.250 

 0
.8

75
 

 0.500 

4 PLACES
R0.250

 4.500 

 0
.8

75
 

16 x 8-32 UNC   0.33
DO NOT BREAK THRU

 8.500 

 0
.5

00
 

 9
.0

00
 

R0.377
4 PLACES

AA

B

B

NOTES:

1.  REMOVE ALL BURRS & SHARP EDGES

2.  TO BE MADE FROM FLAT TOOLING/JIG PLATE

DIMENSIONS:

OR AS A WHOLE WITHOUT THE WRITTEN

Enclosure Downstream

D

C

B

AA

B

C

D

12345678

8 7 6 5 4 3 2 1

E

F

E

A

08-22-16

F

ER

UNLESS OTHERWISE SPECIFIED:

SCALE: 1:1 SHEET 1 OF 1

INCH

PERMISSION OF HPCAT IS PROHIBITED.

PROPRIETARY AND CONFIDENTIAL
MATERIAL

FINISH
Aluminum - see notes

See notes

DRAWN

CHECKED

COMMENTS:

DATENAME

TITLE:

SIZE

D
DWG.  NO. REV

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
HPCAT.  ANY REPRODUCTION IN PART

Reversed KB100-200

DO NOT SCALE DRAWING

SECTION B-B

 2
.5

00
 

 2
.6

85
 

 2
.9

39
 

 6
.0

00
 

 0.077 

 4.500 
 2.125 

 6.875 
3 x #10-32 HELICOIL Insert = 1.5 * Dia.

 2
.7

50
 

 8
.7

50
 

 6
.7

50
 

 4
.7

50
 

 0
.7

50
 

 9
.5

00
 

5 x #10-32 HELICOIL Insert = 1.5 * Dia.

 4
.7

50
 

 6
.7

50
 

 2
.7

50
 

 0
.7

50
 

 8
.7

50
 

5 x #10-32 HELICOIL Insert = 1.5 * Dia.

 9.000 

3 x #10-32 HELICOIL Insert = 1.5 * Dia.

 6.875 

 2.125 
 4.500 

 0
.5

00
 

SECTION A-A

 4.000  1.500 

 4.439 

 4.185  0
.0

77
 


